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QUESTION 1

What is a component of a proxy service listener? (Choose the best answer.) 

A. Encryption hash 

B. Source IP address 

C. Proxy mode 

D. Proxy type 

Correct Answer: B 

 

QUESTION 2

Which detection method would detect a mismatch between the file name and its content type? (Choose the best
answer.) 

A. Checking the MIME type 

B. Checking the file extension 

C. Checking the protocol type 

D. Inspecting the file signature 

Correct Answer: B 

 

QUESTION 3

What needs to be enabled for the Explicit HTTP service to be able to hand off SSL traffic? (Choose the best answer.) 

A. Early Intercept 

B. Detect Protocol 

C. Port 443 

D. Enable ADN 

Correct Answer: B 

 

QUESTION 4

Which section of a policy trace would an administrator locate the original HTTP GET request in? (Choose the best
answer.) 

A. Connection info 
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B. HTTP section 

C. Policy decision 

D. Header 

Correct Answer: D 

 

QUESTION 5

How does an administrator create a single group in policy that includes multiple client addresses? (Choose the best
answer.) 

A. Create a combined policy object. 

B. Include the addresses in a layer guard. 

C. This can only be done using CPL. 

D. Use a dedicated layer. 

Correct Answer: A 
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